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1. When labor is a variable factor and capital is a fixed factor, which of the following A
statements is true? £
(A) There are many different production functions in the short run, each ‘i‘
corresponding to a different lever of labor. X
(B) There are many different production functions in the long run, each 1%
corresponding to a different technological process. E 7
(C) For a given level of capital, there is only one short-run production function %!

available to the firm.
(D) In the very long run there is no choice in the input mix which the firm has to
produce a given level of output.
2. Which of the following is not usually a characteristic of a perfectly competitive
industry?
(A) No individual firm has any significant amount of market power.
(B) The market demand curve for the industry is highly elastic.
(C) Any individual firm can increase its production and sales without affecting the
price of the good.
(D) Existing firms cannot bar the entry of new firms. ,
3. Compared to the efficient competitive result, the monopolist will :
(A) sell the same quantity but at a higher per-unit price
(B) restrict quantity to raise the price per unit of output
(C) increase total consumer surplus, even though consumers pay a higher price per
unit of output
(D) pay a higher price per unit of labor employed
4. Although a monopolistically competitive firm in long-run equilibrium is producing

output at an average total cost higher than the minimum, economlsts are not greatly .
concerned about this inefficiency because:

(A) additional firms may enter the industry

(B) consumers gain satisfaction from having a wide variety of products available

(C) consumes would unquestionably beneﬁt from having fewer products produced
more cheaply

(D) advertising may allow a firm to expand output

5. The demand for labor is a derived demand because:

(A) the demand for labor in a market is determined by the demand for the final
product that the labor produces

(B) the demand for labor is derived from the wage rate paid for labor’s services

(C) the demand for labor is derived from the producer’s overall cost of production

(D) the demand for labor is a function of the supply of labor’s services
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6. One of the major results of the specialization and division of labor is that :
(A) as labor becomes more specialized, the overall output of the economic system
declines :
(B) as labor becomes more specialized, there is a greater need for the economic
system to expand trade
(C) as labor becomes more specialized, there is an increased need for government

—

BWER & AR S

to intervene in the market place
(D) as labor becomes more specialized, the circular flow of income contracts
7. Demand is said to be inelastic when
" (A) the percentage change in quantity demanded is greater than the percentage
change in price of a good
(B) the quantity demanded does not change when price changes
(C) a small price reduction raises the quantity demanded to infinity
8. When the consumer is in equilibrium with 2 certain consumption bundle of goods x
and y (both normal goods), if the price of good y falls and the consumer’s income
and the price of good x remain unchanged, then we can assume that the consumer
will:
(A) move along the oﬁginal indifference curve purchasing less x and more y
(B) move to a higher indifference curve purchasing more x and an indeterminate
amount of x
(C) move to a higher indifference curve purchasing more x and an indeterminate
amount of y
(D) remain on the original budget line purchasing more X and less y
9. Which of the following is not true of price ceilings?
(A) The producer must charge the price established as the price ceiling,
(B) If the ceiling price is set above the equilibrium price, the intervention will
have no effect whatsoever.

(C) If the ceiling price is set below the prevailing equilibrium price, then the price
must be reduced.

(D) If the ceiling price is set below the equilibrium price, then an excess demand
for the commodity will develop.
10. Consumer surplus is defined as the difference between:

(A) the marginal utility of a unit of a commuodity and its price

(B) total utility and the marginal utility of the last unit consumed

(C) the total utility of all units and the price of the last unit

(D) the total value consumers place on all units consumed and the money
payments they make to purchase those units
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/. Arational firm will only seek to maximize total revenue if: }{,
A) it faces a totally inelastic demand curve. k
B) its marginal cost curve falls and then rises. -,
C) its average costs are falling. g]
D) itis a perfect monopoly. &
E) its variable costs are zero. B (8

= . Which of the followmg economists argued that monopohes were economlcally beneﬂcnal?
A) . Adam Smith
B) Milton Friedman
C) Karl Marx
D) Joseph Schumpeter
E) None of the above

3 . Bounded rationality means that:
A) firms are profit maximizers.
B) Not-for-profit firms cannot exist in a competitive economy.
C) firms strive to make good decisions, but not always maximizing demsnons
D) firms spend too much money trying to maximize profits.
E) firms are really utility maximizers.

4 . Which of the following best explains why collusive oligopolies are not stable? -
A) Companies are inherently hostile to each other.
B) Companies feel they have a moral responsibility not to colliude. -,
C) Each company in the oligopaly can increase its proﬂts by deviating from the agreed-
upon price and/or quantity.

D) Oligopolies are not unstable; rather they are quite stable.
E). None of the above.

5~. Which of the following does not represent a barrier to entry into a market?.
A) Import quotas.
B) Patent laws. -
'C) Government franchises.
D) Anti-trust legislation.
E) All of the above are barriers.

& Al but one of the followin
That one is:
A) prolonged decreasing costs.
B) prolonged increasing returns to scale.
C) a continually falling average fixed cost curve.
D) a continually falling average total cost curve.
E) product differentiation.

g are incompatible witH the éxisténée of pérfect competition.

% &% 2 M % % %
& B % R 093 (F¥) @il | FRae s e

GAMKERRA | RERARA Y HHRALEEKERT TR T (LETREEALRA) -
2. EERHE DB EES s ALHRRF o
3HMEHFBEFAMEEFL > AR AR A FWE -




X 8+ 7 eﬁ-fzzﬁ%ﬁﬁ%ﬂm%%é&e%ﬁ

B 76 57 AET
T U] 2 . - 3 A VR
£ # # B ﬂth,}?fKL gfz(ﬁ o ’V\%T %o m| Jp %2'5*
| u :
7 The problem leading to the development of the economics of information can be Y
characterized as follows: &
A) Variable costs are high but fixed costs are low. b
B) Fixed costs equal zero. ;\
C) Marginal costs increase at an increasing rate. -
D) Production externatalities lead to lower demand. g]
E) Fixed costs are high but marginal costs are low. &
Wi
B. The long-run supply curve of an individual firm in perfect compe’utlon is the same thing as
“A) the rlsmg segment of its marginal cost curve, above average cost.
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the rising segment of its average cost curve.
its'entire average cost curve.

that entire part of its total cost curve in whlch total cost rises or remains constant as
output increases. :

none-of-the above.
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